A #HERR
XSRS H BRI

1 % B S IR E & (B - R K) B A
B 4 B FR29EIA2TH (K)  |BAFLESRS 9:32
M AL 15 FR =FHETR5 03 =
xEtEE (M) FEAMAE(FE) B 1K il BR{# 4% (F3)
1,637,310 1,637,310 "
E 3 & % A HoB|@m f# %
1 |PREECIFHKASHE HEXE 1,540,700
2 (BRSO TCHGEM 1,573,000
3 PRFBXHR# BEREXM 1,470,600
4 [BREX=HEYARY 1,440,050 |% 4L
5 |EHFRemEHRAR4 1,473,700
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1 % BEEUA—MMLBEIE
M 4 B FRL295F9A27H (K) 9:51
B AL 15 FR =FHETR5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{# 4% (F3)
4,160,000 3,744,000
E 3 & % A % (M) & %
1 | EHERI &A= KIE 4,000,000
2 |BRESHKASH =ZFEXM 4,160,000
3 |BRASHRETIHIE FKIE 3,990,000
4 (FEXR)—ZRHKEAEH XIE 4,030,000
5 [MRXSHARNIHE KIE 3,980,000 |3
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1 % ZHRETAXIBERTEATIER DL (REAMKERZK)
B # B FRE294E9RA278 (K)  [BAFLESRS 10:12
M AL 15 FR =FHETR5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{# 4% (F3)
101,071,622 101,071,622 i
E3 & % A HoB|@m f# %
1 | KERARKK =1t 79,930,800
2 |[BRRXEHIRVE 74,658,838
3 [BERX&EHV—Power 76,427,951
4 |TRY—THAoH 77,744,351
5 |BRAXRHEA—tL TR
7 |BRHXR#IVOND BEXE 76,596,000
8 KX =ttF—Power 84,511,994
9 |AMHFENHRASA 77,508,490
10 | RRBATFO—"—rr—KAatt 72,133,681 |4l
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% % ETESHR 155 REREHELIS
Bl 4 B FRZ29%9A278 (K) 10:30
M AL 15 FR =FHET{R5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{f 4% (F3)
8,200,000 7,180,323
E3 & % A % (M) f# x
1 | EHERI &A= KIE 7,800,000 |#%#L
2 V4R kAR AIE 7,990,000
3 [ARSHTILTHRELE KIE 8,000,000
4 | ERSHFRESRIRX =FEXRM 7,980,000
5 |ARSHAMER K 8,120,000
6 |BRSHIEVYIIE =FEXM 7,930,000
7 |BRAEHEENLKR KIE 7,880,000
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1 % ETE SR R4 SRERFARTEBER
B 4 B FRZ29%9A278 (K) 10:50
M AL 15 FR =FHETR5 03 =
xEtEE (F) FE M (FE) B 1K il BR{# 4% (F3)
2,051,000 i
E3 & % A B (M) f# x
1 | ZHRERHKAEE XIE 1,950,000 |4l
2 [RXSHBEDPR KIE 1,960,000
3 |B%XEHGISEE JIIBXE 1,980,000
4 [HRASHIAS-TAIXO— K[F 2,000,000
5 (AIRIERAFAEHRASHE KE 2,000,000
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1 % HRHEEXBERT
Mo B FR20E9A27E (K)  |BEFLEERS 11:10
M AL 15 FR =FHETR5 03 =
xEtEE (M) FEAMAE(FE) B 1K il BR{# 4% (F3)
2,610,000 2,610,000 i
E 3 & % A HoB|@m f# %
1 B XMER XIE 2,540,000 %%l
2 V4R kAR AIE 2,555,000
3 BRIy —ERRKEH 2,560,000
4 |BREHITDIEER X 2,580,000
5 [HRX=#AE)IEE KIE 2,580,000
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1 % AXTRKEERMEIE(2IR)
B 4 B FRL29%9A278 (K)
M AL 15 FR =FHETR5 03 =
xEtEE (M) FEMAE(FE) B 1K il BR{# 4% (F3)
8,080,000 7,099,797
E 3 & % A B (M) %
1 (AR =E KI5 7,870,000
2 [AUBEEHRASH KIE 7,920,000
3 |RIALERRIERABRM =FXIE 7,830,000
4 |BRXHFEE KIE 7,880,000
5 [BEXRBEVATLMRASM KIE 7,900,000
6 |ZREBRXKARH JIBEXE 7,850,000
7 | FRStREEERERX AMERAR 7,800,000 |3
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1 % AXTRKEERMBEIE(IR)
Bl 4 B FRL29%9A278 (K) 13:33
M AL 15 FR =FHETR5 03 =
xEtEE(F) FEAMAE(FE) B 1K i FR @ 4% (K1)
8,030,000 7,068,228
E3 & % A % (M) f# x
1 (AR =R KI5 7,860,000
2 [AUBEEHRASH KE 7,880,000
3 |RIAERIEABRM =FXIE 7,780,000 |3
4 |BREXHFEE KIE 7,840,000
5 [BERBEVATLMKASM KIE 7,850,000
6 |ZREBRXKARH JIEXE 7,810,000
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